For a poisson distribution, does u have to be an integer?
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A radioactive sample is monitored and undergoes an average of
0.75 decays/min.

What is the probability of observing 2 decays in 2 minutes?

(You are encouraged to use Igor to solve the problem.)
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What is the smallest interger mean for a poisson distribution that
appears Gaussian? (Don't calculate the Gaussian -- yet.)

A) 4
B) 5
C) 6
D) 7
E) 9

make/O/N=10 PoissonDist = statsPoissonPDF(x, 1.5)

Standard deviation of the Poisson distribution
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Not the uncertainty of the counting,
but rather the variation due to randomness.
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A radioactive sample is monitored and the average decay rate is
measured as 150 decays in 10 minutes. A measurement of the
background radiation is measured for 3 minutes and detects 12

decay events.

Find the average rate and uncertainty of decays from the source.
-3 /SO ’sz
[J_O //—0""

70

A\ T hovt on arSets
T'm m‘opg it

B) T howt an onSeR”
> T m /]OF EU’/‘ﬂ ij

o+’
NE\E,

—— .
(O min 3 min

Igor Basics Page 8







	Chem6111_Fa12_092512_Part1.pdf

